W 22 T ]

N LAEX] IR

ORI R G (W)

2N S0 2F SR AT (M)

SR UREL (W)

& ¥ 4R 4L (UNC)

3% 1l 40 2 B2 4L (UNF)

mis | FLe L E® s | AL e T By Mk 526 mis | FaLm e ® mis | FoLe L
60% 100% 60% 100% 60% 100% 60% 100% 60% 100%
M1 x0.25] 0.75 | 0.84] 0.73 ML X0.2 0. 80 0.87 0.78 W1/16 60 .20 | 1.26 ] 1.05 Nr. 1 64 1.50 1. 60 1. 42 Nr.0 80 1. 30 1.32 1. 18
ML x0.25] 0.85| 0.94| 0.83 ML 1 X0.2 0. 90 0.97 0. 88 W3/32 48 .80 | 197 | 1.70 Nr. 2 56|  1.80 1. 89 1. 69 Nr.1 72 1. 60 1. 62 1. 47
M2 X0.25]  0.95 .04 | 0.93 ML 2 X0.2 1.00 1.07 0.98 Wi/8  -40 2.60 | 2.69 | 2.36 Nr. 3 48] 2.10 2.17 1.94 Nr.2 64 1. 90 1.93 1.75
ML.4  X0.3 1. 10 1.21 1.08 ML 4 X0.2 1. 20 1.27 1. 18 W5/32 -32 310 | 3.36 | 295 Nr. 4 —10]  2.30 2.43 2.16 Nr.3 56 2.10 2.22 2.02
MLL6  x0.35] 1.25 1.37 1.22 ML 6 X0.2 1. 40 1. 47 1. 38 W3/16  -24 3.60 | 3.95 | 3.41 Nr. 5 -40]  2.60 2.76 2. 49 Nr.4 48 2. 40 2.50 2.27
MLL7  X0.35] 1.35 1. 47 1. 32 ML 8 X0.2 1. 60 1. 67 1. 58 W7/32 24 450 | 474 ] 4.20 Nr. 6 32| 2.75 2.99 2.65 Nr.5 -44 2.70 2.80 2.55
MLL8  X0.35] 1.45 1.57 1. 42 M2 X0.25| 1.75 1.84 1.73 Wi/4 20 510 | 537 | 4.7 Nr. 8 32| 3.50 3.65 3.31 Nr.6 40 3. 00 3.09 2.82
M2 X 0. 4 1. 60 1. 74 1.57 M2.2 X0.25| 1.95 2. 07 1.93 W5/16 -18 6.50 | 6.85 | 6.13 Nr. 10 24| 3.80 4. 14 3. 68 Nr.8 36 3. 50 3.71 3. 40
M2.2  X0.45| 1.75 1.91 1.71 M2.5 X0.35] 2.15 2.27 2.12 W3/8 16 7.90 | 8.31| 7.49 Nr. 12 24| 4.50 4.80 4. 34 Nr.10 32 4.10 4.31 3.97
M2.3  XO0.4 .90 | 2.04 1.87 M3 X0.35| 2.65 2. 77 2. 62 W7/16  -14 9.30 | 9.72 | 8.79 1/4 20| 5.10 5.53 4. 98 Nr. 12 -28 4.70 4. 90 4.50
M2.5  x0.45] 2.05 | 2.21 2.01 M3.5 X0.35] 3.15 3.27 3.12 Wi/2 12 10.50 | 11.07 | 9.99 5/16 -18]  6.50 7.02 6. 41 1/4 28 5. 50 5.76 5.37
M2.6  x0.45] 2.15 | 2.31 2.11 M4 X0.5 3. 50 3. 68 3. 46 W9/16 -12 12.00 | 12.66 | 11.58 3/8 16|  7.90 8. 49 7.81 5/16 24 6. 90 7.25 6. 79
M3 X0. 5 2.50 | 2.68 | 2.46 M4.5 X0.5 4,00 4.18 3. 96 W5/8 11 13.50 | 14.10 | 12.92 7/16 -14]  9.30 9.93 9.15 3/8 24 8. 50 8. 84 8.38
M3 X 0. 6 2.40 | 2.61 2.35 M5 X0.5 4. 50 4.68 4. 46 W3/4  -10 16.50 | 17.10 | 15.80 1/2 -13] 1080 [ 1143 | 10.58 7/16 20 9.90 | 10.29 9. 74
M3.5  X0.6 2.90 | 3.11 2.85 M5.5 X0.5 5. 00 5.18 1,96 W7/8 -9 19.25 | 20.06 | 18.61 9/16 12| 12,20 | 12,91 12. 00 /2 20 1.50 | 11.88 | 11.33
M4 X0. 7 3.30 | 3.55 3. 24 M6 X0.5 5. 50 5. 68 5. 46 W1 -8 22.00 | 22.96 | 21.33 5/8 11| 13.50 [ 14.38 [ 13.38 9/16 -18 12.90 | 13.37 | 12.76
M4 x0.75| 3.25 | 3.51 3.19 M6 X0.75| 5.25 5.51 5.19 Wle 7 24.75 | 25.79 | 23.93 3/4 -10] 16.50 [ 17.40 [ 16.30 5/8 -18 14.50 | 14.96 | 14.35
Me.5 x0.75] 3.75 | 4.01 3. 69 M7 Xx0.75]  6.25 6.51 6.19 Wi, 7 27.75 | 28.96 | 27.10 7/8 9] 19.50 | 20.39 | 19.17 3/4  -16 17.50 | 18.02 | 17.33
M5 X0. 8 420 | 448 | 413 M8 X0.75| 7.25 7.51 7.19 Wlys 6 30.20 | 31.67 [ 29.50 1 8| 2225 | 23.34| 21.96 7/8 14 20.25 | 21.05 | 20.26
M5 X 0.9 410 | 470 | 4.66 M8 X1.0 7.00 7.35 6. 92 Wi, -6 33.50 | 34.85 | 32.68 1,4 7| 28.00 [ 29.39 [ 27.82 1 -12 23.25 | 24.03 | 23.11
M6 X1.0 500 | 535 | 4.92 M9 X1.0 8. 00 8.35 7.92 Wlys 5 35.50 | 37.37 | 34.77 1a/s 6| 3100 | 32,18 30.34 lys  -12 26.50 | 27.20 | 26.28
M7 X1.0 6.00 | 6.35 5.92 MIO X0.75| 9.25 9.51 9.19 Wiy, -5 38.50 | 40.55 | 37.94 1,0 6| 34.50 | 35.35 [ 33.52 ey 29.50 | 30.38 | 29.46
M8 X1.25| 6.80 7.19 |  6.65 MIO X 1.0 9. 00 9.35 8. 92 Wls 4.5 | 41.50 | 43.29 | 40.40 154 5| 39.00 | 41.15 | 38.95 lys 12 32.50 | 33.35 | 32.63
M9 x1.25| 7.80 | 8.19| 7.65 MIO X1.25| 8.75 9.19 8. 65 W2 4.5 | 44.50 | 46.46 | 43.57 2 —4.5| 45.00 | 47.13 | 44.69 ey 36.00 | 36.73 | 35.81
MIO X 1.5 8.50 | 9.03| 8.38 MIT X1.0 | 10.00 | 10.35 9.92
MIT  X1.5 9.50 | 10.03 | 9.38 M2 Xx0.75| 11.25 | 11.51 | 11.19
M2 x1.75] 10.20 | 10.86 | 10.11 MI2 X1.0 | 1100 | 11.35 | 10.92 e ey ;
M4 x2.0 | 12.00 | 12.70 | 11.83 M2 X1.25| 10.75 | 11.19 | 10.65 To B 22 IR SR L (W) To B 22 WSS I T SRS (UNC) To B 22 B S 5l 40 2 SR S (UNF)
24 (0 24 (0 24 (0
M6 x2.0 | 14.00 | 14.70 [ 13.83 M2 x1.5 | 10.50 | 11.03 | 10.38 Wik T4 T AL (%) Wik T4 TALAE (%) Wik T4 T LA (%)
MI8  x2.5 | 15.50 | 16.38 | 15.29 MI4 X1.0 | 13.00 | 13.35 | 12.92 60%|  100% 60% 100% 60%  100%
M20  x2.5 | 17.50 | 18.38 | 17.29 Mi4 x1.25] 12.75 | 13.19 | 12.65 W1/16 60 .40 | 142 | 1.32 Nr. 1 64|  1.70 1.73 1.64 Nr.0 80 1. 40 1. 42 1. 35
M22  x2.5 | 19.50 | 20.38 | 19.29 MI4 X1.5 | 12.50 | 13.03 | 12.38 W3/32 48 210 | 2.18| 2.04 Nr. 2 56|  2.00 2. 04 1.94 Nr.1 72 1. 70 1. 74 1. 66
24 x3.0 | 2100 | 22.05 [ 20.75 MI5 X1.0 | 14.00 | 14.35 | 13.92 Wi/8  -40 2.85 | 2.93| 2.77 Nr. 3 48] 2.25 2. 34 2.23 Nr.2 64 2.00 2.06 1.97
M27  x3.0 | 24.00 | 25.05 | 23.75 MI5 X1.25| 13.75 | 14.19 | 13.65 W5/32 -32 3.55 | 3.66 | 3.46 Nr. 4 —40|  2.55 2. 64 2.50 Nr.3 56 2.30 2.37 9, 27
M30  x3.5 | 26.50 | 27.73 | 26.21 MI5 X1.5 | 13.50 | 14.03 | 13.38 W3/16  —24 4.25 | 4.36 | 4.08 Nr. 5 —40[  2.90 2.97 2.83 Nr.4 48 2. 60 2. 67 2.56
M33  x3.5 | 29.50 | 30.73 | 29.21 MI6 X1.0 | 15.00 | 15.35 | 14.92 W7/32 24 505 | 5.15 | 4.88 Nr. 6 R ERE 3.25 3.08 Nr.5 -44 2.90 2.99 2. 86
M36  x4.0 | 32.00 | 33.40 [ 31.67 M6 X1.25| 14.75 | 15.19 | 14.65 Wi/4 20 5.75 | 5.8 | 5.54 Nr. 8 32| 3.80 3.91 3. 74 Nr.6 40 3. 20 3.30 3.16
M39  X4.0 | 35.00 | 36.40 | 34.67 MI6 X1.5 | 14.50 | 15.03 | 14.38 W5/16 -18 7.30 | 740 7.03 Nr. 10 24| 4.35 4.48 4.25 Nr.8 36 3.85 3.94 3.78
M2 x4.5 | 37.50 | 39.08 | 37.13 M8 x1.0 | 17.00 | 17.35 | 16.92 W3/8 16 8.80 | 892 851 Nr. 12 24| 5.00 5. 14 4.91 Nr.10 32 4. 45 4,57 4. 40
MA5  X4.5 | 40.50 | 42.08 | 40.13 MI8 X1.25| 16.75 | 17.19 | 16.65 W7/16  -14 10.30 | 10.42 | 9.95 1/4 20|  5.75 5. 94 5. 66 Nr. 12 -28 5.05 5.19 4.99
M48  x5.0 | 43.00 | 44.75 | 42.59 MI8 Xx1.5 | 16.50 | 17.03 | 16.38 Wi/2 12 11.75 | 11.89 | 11.34 5/16 -18]  7.30 7.48 7.17 1/4 28 5.95 6. 06 5. 86
M52  X5.0 | 47.00 | 48.75 [46X59 MI8 Xx2.0 | 16.00 | 16.70 | 15.83 3/8 -16]  8.80 9.01 8. 67 5/16 24 7. 40 7.59 7.36
M56  x5.5 | 50.50 | 52.43 | 50.05 M20 X1.0 | 19.00 | 19.35 | 18.92 7/16 —14] 10.30 [ 10.52 10. 13 3/8 24 9. 00 9.18 8. 95
M60  X5.5 | 54.50 | 56.43 | 54.05 M20 X1.25| 18.75 | 19.19 | 18.65 e el A 1/2 13 1rso | 1207 | 1164 /2 20 12.10 | 12.29 [ 12.01
M64 X6 58.00 | 60.10 | 57.50 M20 X1.5 | 18.50 | 19.03 | 18.38 LB IR
M68 X6 62.00 | 64.10 | 61.50 M20 X2.0 | 18.00 | 18.70 | 17.83 ke %359]397)\ 1?5({97)\ %F}(LGL
M72 X6 66.00 | 68.10 | 65.50 M2 x1.0 | 21.00 | 21.35 | 20.92 1% 1% & e
M6 X6 70.00 | 72.10 | 69.50 M22 X 1.25| 20.75 | 21.19 | 20.65 1/16 28 6.30 | 6.50 | 6.70 B4R R (SM) Fi/ A XTHEER




